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1. 4WUMPALLIBUS dNFLYSPULED

Thgnip N={U,1,2,...} ng pwgwuwlywl wdipnnp pybph pwqdnt-
pnlh k f(xp,..,x,) Swubwyh $niGyghwh Yngynmd t pYwpwlwlwo,
et w)G wpnwwwwnlspnud £ N -h npbt bipwpwqineniG N -h kg™

n (hnihnfuwywihg Ywhujws pninp pywpwlwlwh $nclyghwbtph
pwqdnipynilp GpwlwytGp & -nd: e &" dnbyghwih npnpdwl np-
pnupp Gwlwltlp N7: bph [af,az,...,a,,)e N7, www Yoguwgnp-
6tlp Owl !f(a,.a,,....a,) Guulwynip, huly (a,,az,...,an)e N}
nbwpnd® ! f(a,,a,,....a,) Gaulwynidp:

x, thnthnfuwlwlp Yngdnid £ ng bwlwh £ e " pnilyghwih hw-
dwp, bpb Gwiwywlwt (@),....a,_;,@,, s, )€ N" b Guiwjwlws
B, B" € N nbnh nGbl hbnbyw) wwydwGibpp

1 (@@ B3 @ s @) L (@500 @1 BB g5 @)

2. tpt! f(a,,...a_, B\ a,,,..a,)=>
J (@@ s B3 @150005 @) = [( @13y @iy B s @iy 5000s @) -

bpynt ng wibGnupbip npnzdwéd L g $nullyghwlbph hwywuwnm-
pinilp ( f = g) hwulwgynud t hbwnbjw) bnwlwyny. tpb nplt hwywpw-

6nth dpw dnilyghwlbiphg dbyp npnadwd b, www Gnwup wyn hwyw-
pwonth Ypw OneyOuwbiu npnaqwé E, L Onwlg wpdbplbnp hwdpGyGnud bG:

F" pwadnupywl npnwlh bipwnwu uwhdwbbint hwiwp GepdnLetGp.

F&Gpuwyhl pruGlghwlbn
1. O(x)=0,

2 S(x)=x+1,

" 2h pwgwnymud 7= 0 nbujpp, npp Gynud t () wbupnd, b £() Guwd npngdws st Yud
hwiwuwn t nplt ¢ hwunwnnibh:
-



- x—y bpbix=
3. S(x)=x=1,npnbn x-y= o i :
0, hwlywnwl nbupnid

Qnpdnnnipim GOER

1. N5 twlpwG hrpnfuwlpwGGEph GEpdneénid

B(X s X3 Yysees ¥, ) DLGUGhWE utnwgynud t S(x)5sx,) DOLOY-
ghwhg y,,.... ¥, (£21) ns twlwi dnipinfuwlwGGbph GEpdniédwip,
tpb

W) Ypsen Ve hnthnfuwlwGGbpp twywG sbG6 A(x,,....x,, V)00 0, )
InLiyghwyh hwiwp,

) f(x)5msx,) = h(x, seres Xpa Vyseons Vi )

2. GulnGundnp wbqunpnipin

h(Ypses ¥i) PMGUGhWE Yngynud t S xpesx,) b 8 (Vpsen 1)
(1<i<n) pnulyghwlbph YwlnGwynp nbnuwnpnipjws wpryniip, bpk
AV, ses V)= F( 8 (Visos Vi )rrs 8 (W s Vi)

3. TMwpquaenyl wonpwnwpdntd
S(x)50sx,, ) DiGUghwl Ynsymd t aA(X)s X,) b B(X}sesX,, Y,2)
$nLblghwlbiph wwpqugnyG winpwnwpddws wpnyniGp, bpb

{f(xl,..., x,,0)=e(x,,....x,) ;

S X X3 Y+ D) = B(Xy s X3 s (X se0s X5 3))

4. UifivquigniiGh npnGned

v(x,,...x,) dmOyghwl Yngynid t P(X)5.0,X,,¥)  PnLlyghuwgh
Ohwwndwdp  GuwquonyCh  npnGiwl  wpmynilp (Gawliwlyymad
WXy X, )= py(;a(xl,..., X,,Y) = 0)). tpb pwywpwpynid bG hbunbywy
wwjydwGlbpp.

w(x,,....x,) @ w) Iy @(x,,....X,,) =0 L

p) Vi< ylo(x,,...x,,1)#0
L w(x),..,x,) npybu wndbp plnniGnd t htGg wyn y (bpb wjb
qnjnipynil nLGh):

_5_



f €8 dmGyghwl Unsynid t duwwbulh Gupoplpwg pnillhghuw
(U.4.$.), bpk w)b htGpwjhGGephg nplk dEYG E Ywd unwgynid t hblpuw-
JhGGEphg Ytippwynp wlqwd Yhpwrbinyg 1-4 gnpénnnipynLGGtnp:

UdkGnipbp npnpdws £ 6.4, (N7 =N") Ungdnid t plnhwlip
buwnaplpuwg pnillyghw (p.4.$.)

[ €& dnibyghw Ungunud b wuupquigneyl upgplpug prlghuw
(y.4.$.), bpt wyG hblpwjhGGbphg nplt OGYG t Ywd vnwgynid t
htGpwhGGtphg Ybpowynp wiquwd Yhpwabtyny 1-3 gnpénnnipyniGGLpp:

OnphGwy

Uywgnigbilp f(x,y) =x+y $nllghwsh wwnpqugnyl Ywpgnt-
pwgnip)niip:

stk {f(x,0)=x+0=x |

fry+D=x+(y+D=(x+y)+1
dbpglklp a(x)=x= §(S(x)) b Bxy,2)=z+1, wyuw
J(x,y)=x+y Pnillghuh wwnqugnyl YupqpGpwgnipnilp hhi-
Owynpyned £ hbnbyw) Enwlwyny’

w) Yhpwabyny S(x) L S(x) $nibyghwitbph Ohwindwip 2 gnpén-
nnepynLlp’ uinwbnud BGp a(x)-p,

P) Unhpwnbing S(z) =z +1 Pnilyghwsh Gywindwdp 1 gnpénnnip-
Jnilp, unwGnd BGp B(x, y,2)-p

q) a(x) b B(x,y,z) pnibyghwibph GYwndwdp Yhpwnbiny 3
qnpénnnipynilp, unwlnud BGp f(x, y)=x+ p:

www bpk

tlnpipGtn
h°0g $nLblyghw t unwgynid @ L S $nilyghwhbphg wwpqugniyG

whnpwnwpddwd dhpngny:
1. Q'(X) . Ieﬁ(_xay,z) =Z-X
2. a(x)=0,B(x,y,2)=z+x

—6—



a(x)=1,B(x,y,z)=z+2x
a(x)=1p8(x,y,z) =2+ 3x
a(x)=1p4(x,y,z)=cx
a(x)=1,p(x,y,z)=2-x°
a(x)=1B(x,y,z)=z-x°
a(x)=2x,p(x,y,2)=z+1
a(x)=x,p(x,y,2)=z+3

10. a(x)=18(x,y,z)=x’

1. a(x)=x,p(x,y,2)=2"
12.a(x)=x, B(x,y,2)=x"

13. a(x) =3, B(x,y,2) =x"

14. a(x) = 2x,B(x,y,z2) =z +2
15.a(x)=LA(x,y,z2)=x+2
16.a(x)=x,p(x,y,2)=2x
17.a(x)=0,8(x,y,z) =x+3z
18.a(x)=2,B(x,y,z) =z~ 4x
19. a(x)=1,8(x,y,z) =2 +6x
20.a(x)=x,p(x,y,2) =2+ (x*Yy)
21.'a:(x) =0,8(x,y,z2)=(z=x)+y
2.a(x)=x,B(x,y,2)=y" 2z
23.a(x)=0,f(x,y,z)=x+y+z

© ® N O O AW

249Gty y(x)= y{? * |:;;+y":| = 0] npn20wG nhpnupp:

25. 3wzt w(10), bpb y(x)= ,u,[[?' —[}-J%B ~3= OJ :

Y



26.3wzyby w(0) L w(9), tpt W(x)"—“py[.f*[x xt 4ol J =0].-
2y+3

27.3wqty w(10), tpt w(x)= yy[l:x ; 2 J = 0]:

28. 3y (7). tpt y(x)= py[[y : 3J - 0}

Uwwgnigli| htnlyw| $neGlyghwlbph wwpqugnyt Ywpqplpwgni-
pnLbp”
20. f(x)=n(eN)

30. f(x)=x+nmeN)
1. f(x,y)=x+y

32 f(x,y)=x-y

3. f(x,y)=x" (0°=1)
34. f(x)=x! (0!=1)

0,tp x =0
35. =
() {l, tp x>0
— Ltpx=0
36. =
o {0, bptix >0
3?'xéy={x—y, tpix2 y
O,pix< y
38. f(x,9)=|x- ¥

39. f(x,y) = max(x, y)

40. f(x,y) = Min(x!y)

Uwywgnighip htnbywy dmbGughwibph wwpqugny Jwpqplpwgnt-
PINGD" OQUWGRNSBINY £(X)see X, %,,,) s A(Vjsdp) b BUjseess )
Pnilyghwlbph wwpquanyG Yupgplpwgnipinilp.

-



x,... x“i’h h g
41-f(x1,...,x”,y’z)= gg( 1 - ) p y z

0,bpti y >z
[ BOL.chw)
g(xl‘--—' xp.J), bpb

=¥ ,.. V)
82, f(Xyrees Xy Viserns V) =4 A(Viseis V) € By s Vim)
0, iGwguwé ntwpkpnid

g(x S o ,f ,bph <z
43. f(xnm,x",y,z) = 1;[ 1 n ) ¥y

0,tpb y >z
[ BCHsenVu)
g(xl yusey xﬂ ? I)’ bph
=@ (V) cslim)
A4, (2 s B s Piyrons Vs ) 54 (V503 V) S BDysees V)

0, 60wawé nbupbipnud

45.L4wublp, np £ (x;,..., X, ) $nellghwl unwgdnid b g(x,,....x,, ¥)
L A(x;50x,) $nullghwlbphg uwhiwbwihwy GluquenyGh npnGiwG
qnponnnipjwip, bipk ﬂy(g(xl,...,x,,, y)=0) npnaqwé t pnnp X;..., X,
hwiwp b th  gbpwquigmd  A(x,,...x,): Uwwgnigby, np bpb
S x,) SmOYghwl unwgdmd t g(x,,...x,,») b h(x....x,)

wwpquanyl Jupgplpwg $nillghwlbphg uwhiwlwhwl GJwqu-
qnujGh npnGdwG gnpénnnupywiip, wwyw w)b wwpquagnt)G Ywpgplpwg t:
46.0%hgnip Ay,....A, wilyhuh PnGyghwibp &G, np Ywiwjwlws

X5 X550 X, POWYWE pybph hwiwp Gpwighg dblp L Shw)G GGYG E hw-

O =



Juuwpyned 0 Uwwgnighy, np bpb g,,...,&,, U Ak, dnillghuwGt-
np wwnquqntyl Yupgplpwg b0, wuyw
8 (%, %, ), gl Ay(x,,...,x, ) =0
5 NG % 2 DRAMSR s | NN e SN
8n(X(yes X, ), bRb A(x,,...x, ) =0

dnLbyghwl wwpquagnyl wpgplpwg t:
47. Uwwgnighy, np wwpqugnyl (Gwulwlh, pGnhwne) Yupgps-

pwg Pnulbghwlbinh nwup sh thntudh, tipt S(x) hhipwihl $mblyghwsh
thnfuwptG Ybpglty 7, (x;,x,,...x,) = x, (I <m<n) dnilyghwi L s0q-

wnwgnpéti ng fwlywl thnihinfuwywGlbph Gepdnwddwa gnpénnnupynLbp:
Uywgnighy htinlywy nibyghwltiph wwpquany Yuwpgplpwgnt-
pnLap’

X
48. f(x,y) =[;] X-p y-h Jpw pwdwGbihu unwgynn pwinpnp

H

49. f(x,y)=rm(x,y) x-0 y-h Jpw pwdwlbhu unwgynn
dGwgnpnp (rm(x,0) = x)

50. 7(x) = «x pyh pwowlwpwnplbph pwlwyhG» (z(0) = 0)

51. o(x) = «x pyh pwdwlwpwnltiph gnudwphG» (o(0) = 0)

52. Ih(x) =«x puh wwpq pwdwlwnwnbtiph pwlwyhl» (/A(0) = 0)

53. 7(x) = «x phyp sqbpwquignn wwnq pybph pwlwyhls

54. h(x,y)=«x L y putph witGwihnpp plnhwlnip pwqiwww-
whhG» (2(x,0) = 4(0,y) =0)

85.d(x,y)=«x L y pdbtiph witGwibd plnhwlny puwdwliwnw-
phb» (d(0,0) = 0)

56. p(x) = «x-pn wuinq pYhl» (p(0) =2, p(l) =3, p(2) =5....)

-10-



57. long(x) = «x puh wibklwité wwnq pwdwiwpwph hwiwphls

58. ex(x,y) = «wuwnq wpinwnphsibph ntupny y puh Ytpinuent-
pJwl dbg x -pn wwnq pUh wunhSweh gnighshly» (ex(x,0) = 0)

59. £(x,y) =] [Wz]=x)

60. f(x, ) =[Cz]| (€ =1, bpb y < x)

61. f(x)=[e-x]

62. f(x)=[e*]

63. f(x)=x!! (x-p sqbpwqulgnn pnpnp pwlwG qnug/YkGn
pytinh wpnwnpjwihG, pt x -p qnug/ykGun t:)

64.%gnip v,(x),..., v,(x) wikGniptip npn2qwé pYwpwbwlwi
$nblghwlbp GG, npnlp Jwilwjwlhws x-h hwiwp pwiwpwpnd &G
vi(x+1) <x(i=1,..,5) wwowllbphG: Ywublp, np f(x,..,X,.,)
Prlyghwl vnwgymd b g(x,,...,X,), A(X ey X, 13X, 00000 X,yyy) b
¥, (%), v,(x) PnGyghwitiphg pGnhwlnp whnpwnuwpdnid gnpén-
nnipjwdp, bpb x,,...,x,, ¥ tnhnfuwlwGGbph pnpnp wpdbpltph hwdwp
inbnh nLGG0 hbnlyw| hwjwuwpnegnlGGbpp

FEX 0B lN S Z(FHppicns X )s

S Bas T D TR oo X oI (X g Xy Vil Vit D)iias

S o 2,9, (+1)):

Uywgmgty, np btpb  f(x,..,xX,,,) Pnllughwl uviwgymd t
8(pn®,)s Xy T s X Tpr)s Vi(8) s ¥, (%) wuinqus-
qnG Ywpgplpwg pnillyghwlbphg phnhwlnip whnpwnwpdnud gnpédn-

nnpjwip, wuww w)l wwpquanyl jwpgpipwg t:
Uwuwgnigtp hbnbyw; wnebgnipintGOepny  wipdnn $ncblyghwlbph

wwpquant)i ywpgpGpwgnipynilp’
85. f(0)=0,/() =1, f(n+2) = f(n)+ f(n+])
66. f(0)=0,f()=1,f(n+2)=2f(n)+ f(n+1])

s} e



67. f()=0,f()=1,f(n+2) =2f(M)+@f(n+D=1D

88. f(0)=2,f(1)=4, f(n+2)=3f(n+)~(2f(n)+1)

69. f(0)=2,1(1) =3,f(n+2)=4f(n+ D= (f(n)+1])

70.f(0)=2,7(1)=3,f(n+2)=4f(n+ )= (f(n)+])

M. f(O=11) =Lf(n+2)=3f(n+1)=(f(n)+4)

2. f(0)=2.f()=3,f(n+2)= f(n+1)-(f(n)+1])

BfO)=2,f()=3,f(n+2)=f(n+1)-(f(n)+1)

4. f(0)=3,f()=4,f(n+2)=3f(n+ 1)/

5. f(0=0,f(DN=2f(n+2)=(f(n+1)~1)- f(n)

76.t)iph $nLllyghwl, npp hwdwuwp t x -p sqipwquignn L x-h
htin hnfuwnwpéwpwn wwng pytinh pwGwyhs:

77.Uwuwignigh|, np jncpuwpwlginip wikGniptp npnywé $niblghw,
nph wpdtipp hwywuwn t @™ pwgwnenipjwip Ybpowynp puny Ybwnbkpnud,
wwnpqugniy hwngplpwg t:

78.Mgnp f(x) L g(x) PnuGlyghwlbng npngyws bG hbunlyuwy dlng’

f(0)=a,g0)=b
F(x+1)=h(x, f(x),g(x)):
g(x+1)=hy(x, f(x),g(x))

Uyuwgnigh f(x) b g(x) $nillghwlbph wwnqugnyG YwnpgnG-
pwgnipjnilp, bipk 4,(x,»,2) L Ay(x,y,z) $nullghwlbng wuwpquanyt
Uwnqplpwg GG:

79. Uywgnigty, np  nipwpwlynip  wwpqugnyG Ywpgplpwg
$nulyghw plnhwlnp Ywpgplpwg t:

80. Uwwgnighy, np wnbnwnpnipjwl b wwpqugnyG winpwnuwna-
dwh gnpénnnupymGGtpp thwl GG pGrhwnip Jwnqplpwg InGlyghwit-
nh nwuh GYwwndwdp:

81.Uywgnigly, np bpb wwpquagnyl Ywpgplpuwg (pGnhwGnup
Ywpqplpwg, dwulwlh Yungplpwg) $nillghwitinh wpdbipGhinp thntuby
Ytpewynp pyny Ynbipnud, www unwgynn $nullghwt bu YhGh wuwp-
qugnyl hunqplpwg (pGnhwlnip Ywpgplpwg, dwubwlh Yupgplpwg):

= e



Uwwgnighy hbwnbywy $neGlyghwibph wwpquant)i Ywpgpbpwgnt-
pym.ap’
82. f(x) =« x-h qnuyq pwdwGwpwnltph pwliwlhG»

83. f(x) = «x-h Ytilun pwowGwpwplbph puwlwlhG»

84. f(x)=«x-h ywpq pwdwlwpwnGbph pwhwlhGs

85. f(x) = «x -p sqtinwqutignn qnujq putinh puibulhl»

86. f(x) = «x -p sqbipwqubgnn YtGwn pybph pwbwyhGy

87. f(x) = «x-p sabipwqulignn wwnq pYtiph pwlwlyhG»

88. f(x,y)=«x-h L y-h pinhwlnp wwpq pwdwGwnwpGsph
pwlwlyhb»

89. f(x) = «x-p sqtipwqulgnn UG pytiph qnLiwphG»

90. f(x) = «x -p sqbipwquhgnn qnLjq pYtinh qniswphG»

91. f(x) = «x-h wwnq pwdwGwpwpGbph gnLdwnhG»

92. f(x)=«x-p gqtipwquhgnn wwnq pYtiph gnidwnhGy

93. f(x,y)=«x-h L y-h plnhwlnip pwdwGwpwnGtph gnw-

Pha»

94. f(x,y)=«x-h L y-h plnhwlnip wwng pwdwGwpwpGbph
qnriwnphG»

95. f(x,y)=¢y-hg ns thnpp L Sx-p sobpwqulignn Lwuwwpwy
putinh qnudwnhl»

96. f(x,y)=«x-h L y-h plnhwGnip pwdwGwpwpGbph wp-
nwnnjwihGy

97. f(x) =«x -hg thnpp wwnq putinh wpnwnpwihG»
98. f(x,y)=«x-hg ng thnpp b 3y-p sqbpwquignn Ywinwpjwy

pytnh qnLiwph»

99. f(x,y)=«x-hg 0b6 L 2y-p sqbipwqulgnn wwnq putph wp-
wnwnnjwihG»

100. f(x)=«x-p sqbpwqulgnn wwpq bpLynpyuylGhph puw-
GuyhG»

-13 -



101, f(x){ mg" xJ

102. f(x,y)=(x!)"
103. max(x,,...,x,)
fxy2)=x—|y—]
105. f(x)=«x-h wyl pwdwlwpwnlbph pwlwyhG, npnGp pw-
dwlynud bG 3 pw wewGg SGwgnpnh»

108, 7z ) =47 P E Ly hahuumamdwpun wumg
wonnnz, hwljwnwy nbwpbpnd

10

=S

X+, tpk x = y Lgnynupynil nuGh wyGwhuh i
107. f(x,y)= phu.np y =2'
X = ¥, hwwnwlnbwptipnid

5,bpirm(x.3)=0
108. f(x)=<4,tpti rm(x3)# 0Lrm(x5)=0
0, §Gwgwé nbwptipnud
109. f(x,y)=«x-h L y-h wiklwibksé pnhwinp pwdwlwpwph
b witiGwihnpp pGnhwinip pwqiwwwnhlyh wpnwnpughGs
x,Bpiy+z=x
Lpix+2z=
110. f(x,y,2)= A 4
z,pix+y=z
0, d0wgweé nbwpbpnLy
111. f(x)=«x-hg thnpp Gpw pnap Yuwunwpyw) pwdwGwpwnGb-
nh gnudwphG»
112 f(x)=«x-hg thnpp Gpw panp Ywwnwpywy pdbinh pwlwlho,
npnGp pwdwlynd GG 3 -h Ypw»

—14-



13. f(x,y)= ”,/[log,x”

114. f(x)=«x-hg thnpp pninp wiG pybph pwlwlhG, npnGp
pwdwhynd 66 7-h Ypw L qnuyg shG»
x,bpix>10Lrm(x,y)=2
115. f(x,y):{ o (*x.7)

0, hwlwnwly nbwpnud

X+ y, ipb x pwdwlbihu y unwgynn

116. f(x,y)= dGwgnpnpwwng phy t
0, hwlywnwl nbypbpnLd

x, ipti x qnuyq t L nplt puh funpwGuwpn t
0, hwlhwewl nbwpbpnud

117. f(x)={

x, tipti qnynupynil nGh wyGwhuh a wwpg

118. f(x,)={ phd,np x=a’
0, hwywnrwy ntwpnud

X, bpbi y wuinq t

119. x,y)=
J(:2) {y,hmln.unwunhumhnmﬂ

120, f(x)= {x, bipbi x pwdwlynudt 7 b sh pwdwGynud 4
‘ 0, hwlywnwl nbwpbpnud
1, bpb x wwnq pwdwlwpwnpGbiph pwlwyp
hwywuwnt y Yuwnwpyw pwdwlwpwnlph
pwlwlhG
0, hwywnw nbwpbpnud

121. f(x,y)=

5%, bpti rm(x,3) =0
122. f(x)=42x, tplrm(x,3)=1
0, SGwgwé nbwpbpnud

=



2x+3y,bpb x UG kL rm(y,3) =2
123. f(x,y)=18x =y, tipb x qnug tL rm(y,3) =0
X, Glwgwé nbiwypbipnud
x +3y, Gpti x L y thnpuwnwpdwpwn wwnq LG
=¥, hwjwnwy nbwpnid
—y,hphxu;umqthy<x
125. f(x,y)=<x’,tpby>x
5, G0wgwé ntiwpbpnuy

124. f(x,y) =

2%, bipti x qnug kL y 4G

126. f(x,y)=43", tipti x Yl tL y qnug
0, 0Gwgwé nbuwptipntd

x=ybpbx>yl yqnuygt
127. f(x,y)=4{2x+3,bpix=y
4, 60wgwé nbupbpnud
128, f(x7)= {C(x, ¥), bipb x wwpq bk y =2
5, hwlwnwy nbwypbpnus
2x, bpb x qnuq t Ly YkGun

129,
Sy {x + ¥, hwlwnwl nbwpnd

Uwwgmgli| htwnlyw; $nlyghwlbph Swulwyh Lwpgplpwgnipynibp'

x-y,bpix>y
130. f(x,y)=
whnpny, hwlwawl nbwpntd

uu wdwGynud
191, f.p)mly PO T OPPAYIING £y iy

u.lﬁnpnz, hwlwnwlnbuwpntd
132. f(x)-p wikGniptip wGnpny HnLllghw t
- 16-



133.

134.

135.

136.

137.

138.

139.

140.

141.

142,

J(x)=x -pn wwinq bpyynpjwlGtinhg wewohGhG
3y=lLbtptrm(x4)=3Ly>4

f(x,y)=110x,bpti rm(x,4) =1Ly =2

wlnpnz, 60wgwé nbwpbpnud

x, bpl x - hqnuyq pwdwbwpwnplbph pwiwlyp
hwdwuwnt y-hlbGwn pwdwlwpwpGph
pwlwlhG

(winpn2, hwywnwy ntwpbpnud

8, tipti x sqbipwquilignn 4&Gwn pybnh gnLdwnp

hwywuwnt y sqbpwquignngnyq pytiph

gntiwnhG

(wihnpnz, hwlwnrwy nbwpebpnud

f(xsy) = J

S(x,y) =4

z,ipiz=x" L zqmqt
whnpn2, hwwnwly ntwptipnud

2, bipti x L y pybph pwdwGwpwnGtinh pwiwlGbpp
S(x,¥)=1 hwjwuwnbG

whnpn?, hwlwrwy nbwpbpnud

f(x,y,z)={

1= 2, ipti qmymupyniGiniGh & pGwlywGphd, np x = 3
winpn2, hwlywewl nbwpbpnud
Lbpxwwpqblx=2

S(x,y)=10,bpbix qnuq t
winpny, dGwgwé nbwpbpnud

2, tipbirm(x,3)=0
f(x)=143,pbrm(x,3) =1
wanpny, bpk rm(x,3) =2
2, ipti qnynupyntGniGh £ pGwlwGphy, np x = 2¢
f(x)=
winpn?, hwlwnwynbwpbpnud

-17e



143.

144,

145,

146.

147.

148.

148,

150.

151. fi

152.

2,tpix=0L y=2
f(x,y)=sLtpix=1Ly=3
whnpny, SGwgwd nbuptpnud
5,bpbirm(x,4)=0
J(x)=12,tplirm(x,4)=1
whnpny, 6Gwgwé nbiwptpnud

Fxy)= 5%, bpbi x wuwpyu bl y > x
' wannny, hwlwewy nbiwpbnnud

3, tp xwunqtl y>x+3

Fx ): Lunnnnz,hwuwnwu nbuwpbipnid
7y,Gpixqnugtl y=7
f(xy)=4{5=x,tpixqnuyqtl y=3

wlnnpny, iGwgwé ntwpbpned

Fiicoie Sy, bipt x wuwnq t L y Yunwpju
i wlnpnz, hwlwnwl nbwpbpnud
e )= x=2” bpbixgnuyqtl y<3x
= wﬁnnnz. hwywnwl ntwpbpnLd
7,tpbx qnuqtl y=2
J(x,y)={x+ypixqnygtly=7

whnnny, iGwgwé nbwptpnid

x+2 JGpb x wyuipq kL x <S5y
Luﬁnnn 2, hwljwnwl nbwpbpnd
x+2y, bpl x Yl kL rm(y,4) =3
f(x,y)=4x=y, tipt x Yl t b rm(y,4) =0
whnpn, SGwgwé ntiwpbipnd

V)=



153.

154.

1585. fi

156.

157.

158. f

159.

160.

161.

162. f

f(x,}’):{

[x =23}, pl y Yuwunwipuy b
wbnpny, hwywnwly nbiwpntd

2,tpi x wwpgtl y=3

fx,y)=13, b xwwpqtl y=5
wanpny, 0Gwgwd nbiuptipnud

x+2,bpb x wwpgt Ly gnt
P { pbi x wuwinq t Ly qnuyq

f(xey)={

f(xsy)_{
S(x, y)—{

f(x!y)={ '

f(x,J’)t{

f(x, y)—[

J(x,y)=

whnpn, hwhwewynbupntd

1, ipti qnjnpnLGniGh k. np x =k

whnpn, hwhwewlynbupnud

1, ipli x Ly pdtiph wnwybwanuyl pwdwGw-
pwpltipp hwywuwn GG

wahnpn2, hwlwewy ntiwpnid

2xy, bpb x pwdwGynudt 6 Ypw by sh

pwdwlynug 2*
whnpny, hwlwnwl nbwpntd

2,tptix 27y Lywuwpqt
wlnpny, hwywewl nbwpbpnud
x-y,tplix>y

y-x,bpix<y

wlnpnp, tpbix =y

x+y° tiptix>3L y YtiGunt
x=y,Gplix<3Lyqnugt
whnpny, i0wgwd nbwptipnud
x”, bpb x Yl y qnyg
whnnny, hwlwewynbwypbpnud
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163

164

165

166

167

168

169

170

171

172.

J f(x,)")=‘

- J(x )=+

- f(x,y)=<

(x+y?, ipti x Yl t L y YbiGien
x-y, ipb x Yl t L y qnuyq
wlnnpng, d0wgwé ntiwpbpnud
[x+y+5,hpb xuunqtlys>5
x=ybpixwwpqtlL y<s
(wlnpng, dGwgwé nhiwptipnLd
(x+5, tipk xyblntl y=3
x+y, Gpx Gt y =6
\wbnpn2, SGwgwé nbiwptipnid
2,bpbxqnuyqtl y >3x

L f(.x,y)=Jle,hpbanquthys3x

- (% p)=1

: f(x.y)={

(whnpny, SGwgwé nbwypbpnid
[2+3y,bpbxu;lunqthy2?
3+2x,bpxwwnqtlh y<7
(whnpng, §Gwguwé nbwpbpnud

x+27,bipbix =3k y wupq st
wlnpn2, hwlwrwyntiwptipnid

2,tplirm(x, y)=0

- f(x) =13,

tipli rm(x, y) =1

wlnpny, §Gwgwé nbwpbpnud

- f(x!y)={

2,bpbix =3
wanpn2 hwywnwyntiwpbpnid
2,6plix<2”

. f(x,y)=4{ltpbx>2’
wanpny, bpk x = 2”

S yy= {wl’: npn2, hwhwewy nbwpbnnud

3,tpbixqnyq kL y YhGwn

-20-



x-y', pix ywnq bl y wwnq st
wanpny, hwlwnwly nbwpbpnud

173. f(x,y)={
[x +¥, ipti x nplt puh $wluininphuwg t L
)=

174. f(x,y y juuinwipjuw
whnpny, hwhwrwy nbyptpnid
y =
175 flxg)si oo “a
whnpn2, hwlwnwl nbwptpnud

(1, iph x wwipq
176. f(x,y)=12,bpb x Yuwwnwpjuy t

whnpny, SGwgwé nbwpbnnid
x+y,bpbix=2"L y=3*

177. )=
/=) {wﬁnnnz,hwuwnwu nbwpnLd

2. @3NHPPLGH ULRELULGN
@yniphlgh dbipbGwh pwnwnphsGbnG b6 dwwwbkGp, qpnn-Yup-
nwgnn g(fuplyp L nbhwywpnn vwppp.
|A IA % ‘xa [ ]x,. B ]A [&T-.. 3
qifuhl e X
dwuyu k0

nblwywpnn uwpp ————>

@)niphbgh dbpblwl watuwnnd b dwiwGwyh wrwGdhG r=0, 7, 2,...
wwhbphl: dwwwyblp wohg L dwluhg whybtpowahg t: UjG puwdwhyws t
peheGtph, npnGghg Jnupwpwlgnipnil dwiwbwlh guwilwgwé wwhho
anjuwsé t Shawn oYy Ghy 4 = {a,,a,,...,a,}(n=1) nunph-bieh wipnipb-

Ghg: A4 - mud wnwGdlwgyws t nuwnwnl Ghap' A: dwdwlwlh jnupwpw-
gnip wwhhl dwwuwytOh Jtpgwdnp puny poholtiphg pwgh, dGwguwé
pehgGpnud gpywé t A: A wwpnuGwlnn peheltnG wiywibkGp nwwnwnly;

) =



Gpnn-Ywpnwgnn gifublp dwiwlGwyh jnupwpwlynip wwhhG nh-
tnwpynud £ o6Y pehe, Ywpnnud wyn peenid qnywsé Ghap, Gpw tnfuwnbl
apnid nplk Gh2 A - hg (hGwpwynp £ GneyG Ywpnwgwé Ghp):

NEYwywpnn uvwppp dwiwbwlh mupwpwlsnip wwhhG quGynud t
YhSwllbinh © ={g0:Gi-s,-1s Py Pn} (nm 2 1) dtipgusinp pusqdinipiniGhg

nplt deymd: ¢y YhSwll wewlGdbwgyws t Q pwqinpnilnid L Yns-

ynud b ulyqplwlwh yhSwl: GGpwnpynid t, np PyniphlGgh GpbGwh
ubunid £ pp wfuwnwipp dwiwlwhh uhqplwlwl ¢ = 0 wwhh,

qulytind uyqplwlwt™ g, Jhdwynd: O={q,,q,...9,,}cQ pwg-
Gnipywl wwppbipp Yngunud GG gnpénn YhSwlyGep, P = { PP} O
pwqinipjwl wwppbpp’ Ggpuihwlbs YhSwlGbp: Iwdwpnd GGp, np
hwjinGdtiind npbt bgpuihwbhs YhSwynud, BniphGgh GhipbGwh wiwn-
winud b wzhuiwinwipp (Gwig t welnud): MBYwywpnn uwppp, GGGy hp
dhGwlhg L g(fuhlh Ynndhg nhuiwpydnn Ghhg, Ywpnn t°

w) thnfub hp YhSwyp;

P) thnfub nhinwnlynn Ghap;

Q) tnfuby qifuhlh nhppp, hwenpn wwhhG wbnuhniubing w)G
hwplwh we Ywd dwhu pphelbp, Ywd pnlb| wbnnud (wjuhGeG hwenpn
wwhhG gifuhlyp Ynhwwplh wyn wwhhG hp Ynnshg gpdwé Ghzp):

L2ywé gnponnnipyniGGbipp pGnipugnyntd GG hw Swwywinwuhuw Gw-
pwn 3 wpnwwwinybpnuiGepny.

AOxA->Q
S:0xA—> A
v:0x 4 - {U,9,8)

UwhdwGnid

T% =< A,0,A,0,v > hliguup, npntn 4,0 pwqinpmGitpp L

A,6,v wpnwywwnlbpnuiGpp Ghwpweplws 6 ybplnud, Yngynud
PjnLphlgh dbpbGw:”

LlwpwgntiGp @jniphlgh dbpbGwgh whuwnwiph pGpwgpp dwiw-
Guwlh £,(t +1)- pn wwhGphG (1 20):

iamye



Ghpwnptilp, 7- pn wwhhG @ynphGgh GbpkOwG quilynid t
q(t) (4(0) = g5) UhGwynud, huly gpnn-Ywpnwgnn giuhlp hinwplnud t
x Ohzp:

w)bpt  g(1)e P, wwyw Oynphlgh dhpblwsh  whuwnwpl
wywpunynd t:

p) bRt ()€ Q, www nhwnlynn pgemid x Ghzh thnhuwnbG
andnud £ 6(q(r),x) Ghap, (1) = pn wwhhG nbywdwpnn uwpph Up-
Swlp” g +1) = A(q(7), x), huly gpnn-Ywpnwgnn qfuhlp phinwpyned t
GnuyG pohep, bpb v(g(4),x) =S, hwpluwl wy pshep, tipk v(g(r),x) =U L
hwplwG dwhu pohop, tipt v(q(),x) =2

UGhpwdtiain t 262t np wliwinwGph L' ulygpnd, L epondd, bpb
w2fuwwnwlpl wywmnyty t, @ynphGgh dtptGwjh gqfuhlp whnp t
qulyh wnwghl ng nuwnwny pegh Ypw:

B)niphlbeh vbpbluyh inpdwl bnwlbwlbbpp

@jniphlgh GkpbGwlbpp Ywpbih b O4wpwgnpby bpyny bnwGwyny'
wryntuwluyhb b nupduwwwinllipwhG:

UryniuwluighG tnwbwlyny GbpYwjwglwh nbwpnid
T, =< A4,0,4,0,v > @nphGgh dtpkGwi, npinkn’

o
A = {agsaz ""9an}’ Q= {QOsqr"!qr——l’pis"-:pm} '
AOx4d->0,
S:0xA—> 4,

v:0x 4-{U,2.8},
nnynud £ hbnlywy rx n swthwGh wynwwyh Shengnd.

P e a, ~ Ta
9,

q, Alg,.a,).6(q,.a,)v(q,.a))

Qr—l

=93 =




T, =<A4,0,4,6,v> @ynphlgh dbpbGuyh nipdwwywinybipwsht

Gnwlwyny GEpywywgiwl nbwpend Q pwaquinipywl Jnepwpwisnip h
JhSwyht hwiwywunwutuwibgdnud t quque — 2newlwl, nph Gpunud
gnunud t h Ghzp: Snupwpwbgnip i - b hwdwp ({) <isr —l), q, - hG

hwiwwwwwupuwbng 2ppwlwlhg nnupu BG quihu |A| hww wnbnGtip,

npnlghg jnipwpwlgniph dpw Gunud t 4 pwqinpywl hwiwwwnwu-
huwi a, (1 <J Sn) Gh2p: ¢, -h0 hwiwwwwnwuhiwG ququphg RNy

Gynn L @, Ghany Gzdwé wnbnp ninndnud t nbiwh A(g,,a,) -hG hwiw-
Wuwwnwufuwl quaqwpp, L wyn wnbnh dpw a; Ghahg hbun thwluwgdt-

nnud gpdmud t 5(g;.a,) Ghap b www v(g,,a,) Ghap: UYGhwyn t, np
wju bbpwy Yweniguwé nipuwwinlbipp dhwndbipnptit Gywpwepnd t
©Bynuphlgh dbpbGw:

ThuinwpltiGp Bymphlgh dhipklwh nipduwwwinybpuyhG nwGwyny
Otpywjwguwh dh ophGwl: Thgnip, ByniphGgh dbipbOwd, ulubiny wp-
fuwwnwipp 1-bphg Gwqijwé Gwiwwywl 7+ 1 bphwpnipjwl pweh
Upw, ywpquytiv unnignud B 7 =0, pli ng, pwnp pnnGEny wGghnginfu:
C0n npnud” whuwinwipl wywpnned £ w)n pweh wibGwdwpu Ghyh Jpw
Gwiqlbind, 7»=0 nbwpmd p, bqpwihwihs dhSwlynud, huy 7> 0

nbwpnud®  p, bgpwthwlhs YhSwyned:
UWu @yniphlGgh Gbpbluwih nupdwwwin-
ybipp GEpYwywgywd t gdwqpnud:

2wlh np @)nuphGgh dhpkGwibpp
SLwthnfunwd B0 hptilg dwwwyblh poho-
Gbpnud qpywé  pwnbpp, www npwGg
dhengny pyYwpwlwlws Pnblghwlbp
hwaubim hwiwp GEpywywglbGp nbl-
ghwjh  thnihnfuwlwGGbph  wpdtipGliph
hwywpwénh pweh inbupny npnwyh wy-
pnupbGnud: :

Va, (@, e N,1<i<nn21)

e



hwdwp {al,az,.u,aﬂ) hwywpwénth  dbpbluwjwlwl 4nn  (Lwd

wwpquuyby  Ynn)  YwlywGbGe 1..1*1.1%.*1..1 pwep, npp

e+l ay+l a,+l

yGwlwybbp k(a,,az,...,a,,)-nq: Vwubwdnpuwuybu, L.1 punp «

a +1

puh Ynnd t:

Uwhdwlntd

YwutiGp, np 7' Byniphlgh dbpbGwh hw)ynid t f(x,,xz ,...,x,,)
pUwpwlwlwG pnullyghwl, tpts Y (.2, ,..,2, ) hwjupwénih hw-
duwp (a, eN,I<i Sn), uyubny whuwwnwGpp k(al,czz,...,a,,) pwrh
Upw, w) ysnpowdnp pwyltphg hbnn wdwpunnd b wyt, wwpnubwlbing
dwwwybGh Jpw k(f(at,tzz,...,a,,)] pwnp, bpb f(a,,a,,...,a,,)
npnawé b, L p) Uppwnbih st k(a”az,...,o:n) pwnh puw (wyuhGpG,
w2huwinnud  widtng)” hwhwnwl nbypnud:

Vwhdwlmd

YwubiGp, np (X, X5, X, ) PUwPWOWLYWE DNLGYghwE huwqwp-

Utith t puwn ByniphGgh, el qnynipyniG nuGh 7 @)niphlgh dbpkGw, npp
w)l hwpinud

Uwywgnigklp dh pwGh $nillyghwlbph hwaybihnigynilp pun @yne-
nhGgh:

, 1,6pix=1
1. [—}= 0,px22

X

npnaywé sk, bpix =0

Gwnnigblp wju pnilyghwh hwpdnn @yniphGgh dkpbGw nupduw-

wwunlbiph dhgngny.

25—



1(1)U 1(1}U 1(1)2 .
A(AU
ona,)

2. Ywnnighlp htnlyw| niGyghwh hwrunn Byniphloh tbpbOw.
_ O,pix<y
X=y =
x—ybtpix2y
UbpblwG uyqplwlwl wwhhG ghvwpynid b dwwwydbGh Ypw
gndwé 1..1*1..1 pwnp, pln npnud SkipkGuyh qufuhlp quiGymad t q,

x+l  y+l

ubqpOwlwl JhSwynis L nhnwplnud t dwwwybGh Ypw gpwé pweh
wdblwdwhu 1 Ghp: BynufhGgh dbpbilwh wluwnwlpp Ywqiwlbpuy-
blp htwnbywy Ybpw. wyG «pGonid t» Sbywlwh Ghy wpdwé pwnh jnLpw-
pwlynip 6wyphg, wunhSwlwpwp GYuqbglbing X - G nu p - p: bpk
uligpnid Ytippwlnud GG dwhuwynndwi 1 - bpp, wwyw dwwwdbGh Jpw
wadkl hGg «plounud t», qpynud t 1, L wohuwwnwlpl wdwpndmd t:
Jwlwnwl nbwpnid dwywytGh Ypw §Gntd 66 x—y—1 hwwn 1 -bp L * -
0. npnlp dbpbOwG dLwihnfunud t x—=y - h Ynnh L Ywiq weGnud: Uu
dbptlw)h nupuwwinybpp GepluwywglbGp unnpl.

11U 1(1)U
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huGnhpGbp

bwnenigl] hbnbyw) pUwpwlwlwt PniGlghwh hwydnn Byniphlgh
UbpLGuw.

1. flxy)=x+y
2 f(x):—

3 flx)= g]

7. f(x)=rm(x,2)

8. f(x)=rm(x3)

9. f(xy)=x-y
10. f(x.y)=x-y

1. f(x,y) =rm(x, y)

12, f(x,3) ==
y

13. f(x)=x+5

14, f(x,y)=x+y+5
15. f(x)=x=4

x+2,tpix>3
i f(x)— {x*l, bpb x <3

-97_



x+ybpix=>2

7. V)=
1 f(xy) {x,hphx<2

xX+y+2,tpix=23
18. =
f(x,y) {y. bph x <3
x+y+lbpix22Ly>1
19. W)=
f(x y) {0, hwjwrwlynbwpniid
2. £(x)= {x +3,tpti rm(x,2) =0 L rm(x,3) # 0
0, hwywnwynbwpnLd
x+ybparm(x.2)=0Lrm(x,3)=1
21‘f(x,y)={ ( ) ( )
1, hwhwewl nbwpnid
_ | x tpt x qnuq tL rm (»n3)=0
2 f(x,y) B {{], hwhwnwly nbupnid
x.bpix2 y
23. L V)=
f(x.) {y’hp“ ot
x+3, bpx<2 -
24. =
f(x) {x =] bpx>2
x+2,tph y<3
25. f(x,y)=
f(x y} {y*],hphy24
x-2, tpbx>4
6. L) =
%. 1) {x+l.hphx$3

x+2, tpt Ik(x=2k)
x=2, tpb 3k(x=2k+1)

27. f(x,y)={
)={x+y,hphx2y L rm(y,3)=1

28. f(x,
f( ¥ 0, hwlwnwly nbwpnud
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x=1, bph x YtGuwn t

i f {x-r-l bipb x qnugt

%. f5,3)= {x =2, tpt rm(x,2) =1L rm(x,3) =3
¥ =3, hwlwnwy nbwypnid

e f(x,y):{(x+ ¥) =3, tpti rm(x,2) =0 rm(y,3)=0
¥ + 1, hwywnwy nbwpnud

2. f(xy)= {x +( ~2), gk rm(x,2) = 0L rm(x,3) =1
0, hwlwnwy nbwpnud

+ ¥, bpt 2)=1krm(x,3)=2
- f(x {x ¥, tip rm(x nn( )
X =4, hwywnwlnbuwpnid

x+(y=2)bpb y2x+2

3. )=
f(x y) 2, hwywrwl nbwentd

X+y+2,bpbx=2kLy=#0

3. f(x,y)=
x + 5, hwywewy nbwypnid
(x+y)=1Lbtpt y2x+2

36. f(x y ={
X, hwywnwlynGwpntd
x+y+2,tphdk x=2k) Ly =0

ar.f (x,p)=4""7

x+5, hwhwmuu nbuwpntd

38 f(r.y)=(x=y
(x=y)+8 tpt x>y
= f ) {x+y+8 bpx<y
x+ y, bpb rm(x + 3,2)=0
©.f(x.y) [x = y|, bptirm(x + 3,2)=1
41.f(x,y)=max(x,y)
~20:s



42. f(x,y):max(x,y’z)
43, f(x,y,z): min(x,y’ z}
44. f(x,y)=3-x

45. f(va’)=2-x+y
46-f(x,y)=x+3y+3

F

_i} tpby =0
a7. flxy)=1ly |

‘0, I.‘Iph_y ..—_0

T x
48. f(x,y)=1 -'2*}. bpti rm(x,2)=0

2+, huslwnwl nbupnus
49. f(x,y): (x ‘_P)+ 2

50. /(x,y) = (x+ )

51. f(xs}’)= x*+y

- =

W =

52. f‘(,‘[’_},v)=1 § —’hphx:'y

.y+3r h?thy

53. f(x,y)=< | 2 |
0, p x< y

54 f(x ): (2x = 1)+ J, biphi rm(x,3)= 2

; Y 0, hwywnwl nbwpntd
2x, bpb rm(x,2) = 0 L rm(y,4)> 1
0, huywrwl ntwpntd

| =

L pli x> y

55. f(x, y):{
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bph rm(x,2)=1

56. f(x,»)=
y+1 hwlwnwy nbwpned
2 ! ¥ - Wy
57. f(x,p)= >l bolirmlz,y)=0
x + J, hwywrwy nbypmd
)‘ 2x, biph rm(x,2)=0
- Y =1, hwlwrwynbiwpnid

2x,tpix 2 y+1
v y=lLtpix<y+l

60. /(x, )= 2y, hphrm(x,2)=0hrm(y,4)>1
e 1, hwlwewyntwpntd

3x, bipk rm(x,Z) =0
x=1,bpk rm(x,2)=t 0

61. f(x):{

)= [}hphﬂkn{lx 2k
O, tp Ik npx=2k+1

x+ y,bpbrmix,3)=0
53vf(x,y)={ y (x3)

62. f(x

A X+ Y, hwjwnwlnbwpnid
64. f(x,y)= [”y ]

Ak ( ) 2y+1pi2<x <4
J 1, hwywnwy nbupnuy

3x,bpi3knpx =2k +1
oy {x*?, ek 3k npx =2k

=% 7 =



2x,bpix <y
" f(x)_{x*y,hphx?:y

L y]. tipti rm(x,Z) =0

68. f(x,y)= [ 2

0, hwhwnawly nbuwpnt s

) 2, tpb x qnug L
Xl=
2x, bipti x YkGun t

x Y, pli x qnuyg t

70. £(x,
x~ 'y, ipk x YGGuin t
2x I:pl:. rm(x,3)=0
. f(x)= hph rm(x 3)=1
x =3, bipbrm(x3)=2
x , ipb x qnuq t
72.
f( x(x 1 Izph x UGGk
x+3 tpb x qnuq
73. f(x)=

t:pb x Yl t

74. f(x,y)= x+l)2 tipb rm(x,3)=1Lx <y
’ 3y, hwlwnwl nhypntd

x-ybpix=5Ly>3
75. f(x,y)=15 tpx<5 Ly =3
x=ypix>5Ly<3

=93



[x
76. f(x, y) =<3
2x~1, hwlwewl nbwpentd

77. f(x,)= {(H 7), bpb rm(x,4)=1

3, hwlwnwy nbwpnud

} tpt x>4 L x gqnugt

(x+2f = y,bpix= y L x qnug t

78. flx,y)=
f(x y) {y,hwhwnwhqhummd

|
e yBp x qnugt L y#0
Yy

79. f(x,y)= J y=5, iph y>6 L x YGin t
x+1, hwywnwy nbupnLd

(x+y). tpix <yl rm(y,3)= 2
3, hwlwnwy nbupnid
(x=2)=y,btptix>yLx>10
81. f(x.y)=1{2x tpix=y

4, hwywnwl nbwpnd

82. f{x,)= {x(xézl bt rmy+1,2)=1 L x anugt

80. f(x,y)={

x+5, hwywnwly nbypnd
Lwnnigby BynphGgh dbiptGw, npp Vx € N -h hwiwp hpwlwGwg-
Gnud £ dbpblwjwlwG Ynnh hbwnbjw) SkwihnfunwpnlGGlpp.

83. k(x)—> k(2)* k(0)* k(x =1)

84. k(x)— k(2)*k(x - 2)

85. k(x) = k(x =2) * k(1)

86. k(x) = k(x=1)* k(0)* k(1)

87. k(x) = k(0)*k(x =1)*k(2)

~ 38



88. k(x) — k(0)* k(x =1)* k(3)

89. k(x) = k(x +2)* k(1) * k(x)

90. k(x) = k(x +1)*k(1)* k(x =1)

91. k(x) = k(5)* k(x +3)* k(x = 1)

92. k(x)— k(2x)* k(x+2)

03. k(x) — k(x +1)* k(x)* k(x =1)
(x) — k(x)= k(x) *k(x=2)

95. k(x) - k(x)* k(x =1)* k(x)

96. k(x) = k(0)= k(x) = £(0)* k(x +1)

97. k(x) > k(x =3)=k(0)* k(x + 2)

08. k(x)—> k(x =1)*k(x)* k(x+1)

99. k(x) = k(1)* k(x =1)* k(x +1)

100. k(x) = k(x =2)* k(0)* k(rm(x,3))

101. k(x) — k(x)= k[{l * k(x)
102. k(x) > k[ﬂ*k(m).k(m(x,a))

103. k(x)— kB] wk(l)* k(x=1)

k(0)* k(x =1), bpti rm(x,3)=0
104. k(x)

k(2x), hwlwrwynbwpnud

k(x=1)*k(x=1) tptix > 4
105. k(x)

k(])t k(2), hwlywnwynbwpnud
k(x)* k(x = 2) bpti rm(x.3) 2 0

106. k(x)
k(0), hwlwnwl nwpnLd

LA



k(4)* k(3x)* k(2) tipki x qnug t
107. k(x)<
k(x), hwlwnwy ntiwpnLd
k(x=2)*k(x) bptix=5
108. k(x)/’
k(2x), hwlywnwl nbwentd

kB—J o k(0w k(x) bpb rm(x,4)> 2
109. k(x)f: k(x)* k(1), hwywnwl nbwypnd

Ir(xz). bipb rm(x,3) =0
110. k(x) = k(x = 4)* k(2x), bipti rm(x,3) =2
k(2x), hwywnwy nbiwpnii

y k(x=2)* k(1) bpbix >3
11, k(x)\
k(2x), hwlwnwl ntiwypnid

k(2)* k(1) * k(x = 1), tipti x > 6
112. k(x)

N k(x), hwlwnwy nbwpnid

k(2x)* k(2), bipti rm(x,2) =1
113. k(x)
k(x =1), hwlwnwy niwpnid

k(2x)* k(0)* (1), tpt rm(x,3) = 2

114. k(x)

N k(2), hwlwnwyntiypnud
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3. FLULUL fPYEMP FUUULUMGEM IUUUMUYULNFULED

Snipwpwlsgnup ubbnwé » pGwlwG pdh hwiwp N”-hg N -h
dpw thnfudhwpdtip wpnwwwinytpnidp Yngdned b pGuwlwa pybph wwnpq
hwiwpwywind: Ywlwnph Ynndhg Ghpdméyt; t hwiwpwlyw(nidp
htwnlyw) bnwbwlyny’

n=2 nbwpnd C(x,y)= S y)(;+ yii) +x  $nllyghw
quninud b jnupwpwlynip (x,y) qnugh hwdwpp, huy #(m) L [(m)
dniGyghwhbpp (b [1]) Ypwlywhobnud 646G m hwiwp nGkgnn qnuygh
we' ¥, b dwh' x, wlnwdGbpp: UYGhwyn t, np C(X(m),r(m)) =m L
rCxy) =y, (C(x,y)) =x:

123 hwiwp dwywéiwh bnwbwlng Gepdnidyncd

C"(X)peresX,) = C(C" (XX, )sX,)
$nllyghw(, nph Shengny hwiwpwhwiynid GG pGwlws pybph 7 -jul-
Gbpp:

Jwlwwwunwuiwlwpwp @’ (m) [ <i<n (nbu [1]) dniblyghwt-
nh dhongny punn 7-jwih m YwGwnapwG hwdwph Ytpwlywhgbynwd t
Opw 7 -pn whnwdp:

LbpinetGp hbulyw) GawlwynGipy N ={A}, N'=N L
N*=N"UN'"UN?U..UN"U...: N°-hg N -h dpw thnfushwndtp
wpnwwwinybpnudp GEpdnuéyby E Synntith Ynndhg hbnlywy bnwGwyny’
0,Gpin=0 _
Cin=1,C"x,..x,))+1,tpin>1"

Gnbywlh hwiwpwlwinuitph hbn Ywwyyws nhowplydned G
htwnlyw| $nibyghwlbpp’

o p(x) = «lbl hwin x-hg punyugwé hwiwlwpgh qnabywi hw-
dwphG»

*5(z)=«z qnnbywl hwiwp nGbgnn hwdwlywpgh Bphwpni-
pjwlip»

ﬁ(xi,...,x")={
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«z qynabiywi hwdwn nuGtgnn hwdwlwpgh
® A(i,z) =4 i-pnwlnwdhG», bpb1<i<d(z)
0, hwjwnwynbwpnd

o o(x,¥)=«wl hwiwlwpgh  gnbipwl  hwdwphG, npp
unwgymd t y pOwlwi phyp wohg Ygwapbind x qunnbywG hwdwn
nbbignn hwiwywnpghl»

* p(x,y) = «wyl hwiwlwngh qynnbiyw hwdwphG, npp unwgyned
by qmnbywl hwdwp nilbgnn hwiwlywnap wehg Lguagptiny x
qJnnbywi hwdwp nubbgnn hwiwlwpghl»

«Zz qynnbywlhwdwn nGbgnn hwiwlwnpgh i - pn
winwdhg uluynn / plwpnipjwip hwindwéh
nbywlhwdwnhl», bpb i > 1Li+ j—1<68(z)

0, hwywnwynbwpnud

* (z,i, j)=

o 7(x,y)=«y hwun x- biphg pwnywgwé hwiwhungh qnnbiyw
hwidwnhO»

tulinhpbbp

1. Uwwgnighy C(x,y) nlyghwih wwpquignyl Ywpgplpwgnt-
pJnLap:

2. Uwwgnigty, np C(x,y) $mllghwG thntushwndtp hwiwwyw-
nwutiwlnpniG t N2 W N dhols

3. Uwywgnigly /(x) L r(x) $nibyghwlbnh wwpquaqni)t Ywngps-
pwgnipynilp:

4. Uywgnigh) C"(x,,...,x,) $niGlghwih wwnqugnyl Yungps-
pwgnip)nLlp:

5. Uwwgngty, np C"(x,,...,x, ) $nlyghwl thnfudhwpdbp hwiw-

wwinwutuwGnipyntG t N* L N dhol:

. .



6. Uywgnigty @/(m) i=12,.n $mllyghwlbph wwpqugnyG

YwpgplpwgnipyniGp:
7. Uywgmgb p(x), 8(z), A(i,z), @(x,y), w(x,y), 0(z.i,))

b y(x, ) nuGlyghwlbph ywpquanyl bupgpGpwgnipjnilp:
Thgnip ,B(x,,..,x")= m : 3wpyby hbwlyw; $nclhghwlbpp b wuww-

gnighi| Gpwig wwpqugnyl YwnpgpGpwgnipynlp'
8. B(8,4,1,10)

9. ﬂ(8,x3,4,x“1,x;,!0,xw)

10. ,B(x,,x_,,...,x,,,,,8,5)

EO s O s g

1 5 X s X Bpeis Bt hr X )
13, B(X,, X, X5, Xg X103 X )0 X1y Xy X Xy )
14. B(x,,0, Xioli B ostn e Bsmes )
0. 003kl B )

B X X XX o)

17. ﬂ(xz,x‘.,x4,x3,x,,xﬁ,x?,x3,...,x _2,x,,_,,xn)
18. f(1,2,3,4,5,%,,%,,%,,%,_,,x, )

19. #(2,8,24,x,,x,...,x, ,,%,)

20 B0/, %28, X jid.4%,5 30, 1)
2L 0N B B X R D)

22. ,B(x;,0,...,0,::2,0,...,0,x3,0,...,0,...,x,,,G,...,OJ
e e e~ ——

X x; Xy X,

23 ﬁ(x, 0, xQ,G,O,x_,,O,G,G,...,xn,O,...,O]
‘—V—J

n

24. 5011, %,%,%,, %, %, XN, % 07)
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28, DU X X i Biines Xa &)

26. ﬂ(xz,xs,x,,x,‘,xs,...,x,,_;,x,,,x,,_z,x,,_,)

27. ,8(0,xf,xz,...,,x"_;,x,,,ﬂ)

28. ﬁ(xn—ﬂxn-.?!xn-!9xmx5’xﬁsx?'"uxn-4 !x.rsxzsxbx«)

29. ,B(xj,,x},xj,x‘,,.i,b’,?,c?,xg,xm,...,x,,)

30. ﬂ(x;,xz,O,G,O, x3,x,,x,,x6,...,x,,_3,x,,_z.O,G,O,x,,_,,x,,)
31. ﬁ(xs sx?’xs:xﬂ’xms'"’xn!xnx}sxyxuxs)

32. ,B(xl,x-,,xj,x‘,,0,0,G,xj,xﬁ ,0,0,0,x;,xs,xg,xm,x”...,x,,)

Uwwgnighy hbunlywy $niGyghwtph wwpquaqnyl Ywpgplpwgnt-
pjnLlp’
33. f(m)=«m qnbywl hwiwp niibgnn hwiwlywpgh m -hg

066 qniyq whinwdGbph pwiwlyhG»:

34. f(m)=«m qnbigpwlG hwiwp niGbgnn hwiwywpgh wwpg
wihnwabbph pwGwyhGy:

35. f(m)=«m qynnbiywl hwiwn niGlignn hwiwlwnpgh 5 -hg obé
wuwnq b Yl whnwdGbph pwbwlyhG»;

36. f(m,x) =«m qnnbywG hwiwn nuGbgnn hwiwlywpgnid qnuyg
wnbnbpnud qunlynn x -hg dbé Yl pubiph pwlwlyhG»:

37. f(m)=«m qnbywl hwiwp niikgnn hwiwlwpgnd YbGwn
wbintipnud qunGunn 75 -hg thnpp qniyq putinh pwGwlihGs:

38. f(m,i,j)=«m qnnbywl hwiwp nutignn hwiwywnpgh i-pn
L J-pn wlnwdGeph m-hg 868 pGnhwGnp wwng pwdwlwpwnbbph
pwlwyhG»:

39. f(m,i) =«m qnnbywl hwdwn nbkgnn hwdwlwnpgh Ytpoht
wlnwdhg GhGgL 7-pn wlnwdp GEpwejw) winwdGbph wdkGwihnpp
pOnhwGnip pwqiwwwunhyhb»:

40. f(m) =«m qnnbiywl hwiwp nuikgnn hwiwhwngh 5 -h Ypw
pwdwlynn qnyq whnwdGbph qnudwnphG»:

41. f(m)=«m qnbywl hwiwp niGbgnn hwiwlwpgh YkGn
wbntpnud qubdnn 3 -h dpw pwdwynn qniyg winwaGbph gnudwphbs:
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42. f(m,x) =«m qnnbywl hwiwp niGtignn hwiwlwpgnud YkGn
tnbntpnud qunGynn X -h Upw pwdwldnn gnyg pYbiph qgnudwphly:

43. f(m)=«m qynnbywh hwiwp niGtignn hwiwhwpgh 3-h L 7-h
Ypw pwdwlynn winwdlbbiph gnudwphG»:

44. f(m)=«m qnbywl hwiwn nibgnn hwiwlwpgh qnuyg
wlnwdGeph 4EGw pwdwbwpwpGliph gnuwphG»:

45. f(m) =«m qnbywl hwiwp niGtignn hwdwywnpgh qnLjq nb-
nbpnud qunGynn 4 -h Ypw pwdwbynn wlnwiGbphg pwnlwgws hwiw-
Ywpgh qynnbiywG hwiwphG»:

46. f(m) =«m qnbiywl hwiwp niibgnn hwiwlwpgh 3 -h dpw
pwdwlynn wnbntipnud qunGynn winwdGtphg pwnlwgws hwiwlwpgh
qynnbywl hwiwphG»:

47. f(m) =«m qnbywl hwdwp nillgnn hwiwlwnpgh 4 -h Ypw
pwdwiynn qny)q winwdGbph wpnwnpywhs:

48. f(m)=«m qnnbiywl hwiwp nulbgnn hwiwlwpgh S(m)-p
stipwquignn 4G winwdGbph wpwnwnpjwghy:

49. f(m)=«m qunbywl hwiwp nibgnn hwiwluwpgnd YEGwn
nbntipnud qulynn qnyq pubiph wpnwnpywihG»:

50. f(m)=«m qnbywt hwiwp niibgnn hwdwlwpgn.s Ytluwn
wbnbipnid gnGynn 3 -hg 666 pytiph wpnwnpywhG»:

51. f(m)=«m qnbywl hwiwp niGbgnn hwiwywnpgh 3 -pnhg
lwhuwytpehG 5 -hg 066 winwiGbph wpnwnpywihG»:

52. f(x,y)=«unl hwiwywpgh qrnbiywh hwdwph, npp uwnwg-
gmud £ x qyenbywl hwdwp nlbgnn hwiwlwpgh Jnupwpwlgnip wii-
nwdhg htwnn wybjwglbing y phup»:

53. f(x,»)=«w)l hwiwywngh qnnbpywl hwiwphG, npp uwnwg-
Unud £ x qynnbiywl hwiwp nGbgnn hwiwlwnpghb wehg L dwhuhg Yow-
qnbLny y phyp»:

54. f(m,i) = «w)G bwlwlywpgh qynnbywl hwiéwphG, npp unwg-
Unud b m qanbpwl hwiwp nbtgnn hwiwlwpgh i-pn wlnwdh wib-
Gwibé wwnq puwdwiwpwphG wehg Ygwapbiny m phup:
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55. f(m,i)=«m qnbywl hwiwp niGbgnn hwdwlwpgh 7-p
wlnwdh wibiwibé wwpq pwdwbwpwph hwiwphg Ywqidws hwiw-
Ywngh gynnbpywl hwdwphG»:

56. f(m.i) =«uyl hwiwlwpgh qnbyws hwiwphl, npp unwg-
dnid b m qynnbpywl hwdwp niGbignn hwdwlwpgh i -pn wlnuwishg htwnn
wyGwglbyny 7 -pn wwng phyp»:

57. f(m) = «w)l hwiwlwpgh gnnbywh hwiwphG, npp unwgynd
t m qnnbipwl hwiwp nuGbignn hwiwlwpghg pGunpbiny w)l winwiGs-
pp. npnGg hwiwplbpp pwdwGynud G 3 -h Ypuw»:

58. f(m,i)=«m qnnbywl hwiwp niGbgnn hwiwywnpgh 4 -hG
wwunhly wnbnbpnud L 7-0 sqbpwqulgnn wlnwdlbphg pwnlwgwé hw-
dwlwngh gynnbywh hwdwph»:

59. f(m,i) = «wyl hwiwlywnpgh qantywl hwiwpht, npp unwg-
dnud & m qyanbpwl hwiwnp nGbgnn hwiwywpgh GwhiwdbnehG wlnw-
dhg uluwé plwnpbind § Gpywpnieywdp (nbwh dwhu) hunywés:

60. f(m)=«m qnbywl hwiwp nGgnn hwdwlwpgh qnug L
3 -pG wwwnhl wnbnbpnid qunGynn winwidlkphg pwnywgowé hwiwlwp-
qh q)nnbywh hwiowphGx:

61. f(x,¥,1) = «wyl hwiwlwngh gnnbyws hwswphb, npp unwg-
ynud £ x qyonbigwi hwdwp nlGbgnn hwiwywpgh 7-pn wlnwdhg hbnn
wytiwgltiny y phyp»:

62. f(x,y) = «w)l hwiwlywngh qynbywh hwdwphG, npp unwagynd
£ x gynnbpwl hwdwp nGlignn hwiwlbwnpghg dwfuhg™ Ygwapbiny ¥ qn-
nbpwG hwiwn nibgnn hwdwlwpgp, huy wehg bgwapbind x hwin 1 »:

63. f(x,i) =«wy0 hwiwlywpgh gnntpwh hwiwphl, npp unwg-
dnud £ x gqynnbywl hwiownp nbbgnn hwiwlwpgh 7 -pn winwidhg wawg
wybjwgltiny x hww x, huly 7-pn wonwshg hbwnn Ygwgpbiny §0w-
gwd wlnwdGtpp hwywnewy Ywpgny»:

64. f(x,y)=«wl hwiwlwpgh gqnnbywl hwiwphl, npp unwg-
Uynwd £y qnbpwO hwiwp nbbgnn hwdwYwpghg pOupbiny x-hG
wwuwnhl winwdbbpp' uyubind y qynnbywb hwdwp nibbgnn hwdwywnp-
qh ytpghg»:
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4. 3UUUTMhSULD DNHLUSPULED

Tthgmp M c§": F(x,,x,,..,x,) dnllyghwl Ynsynid t hw dwugh-
nwih M pwqintpjwG hwiwp, tpb

Vf(x,..x,)€ M 3n, € N (Fn,x,,..x,)= fix,...x,))

VmeN (F(mx,...x,) e M) :

OphGuwl’

M= { x+y",x3,2xy} puqinpul hwiwp hwdwwhnwih &G
hwlnhuwGnid htwnbywy $nblyghwibpp’

w) F(xp.x,¥) = (x +y7)sg(x,) + x"sglx, = 1|+ 2xysg(x, = 1),

) F(%y,%,9) = (x + )E(rm(x0,3))+x3§|rm(xo 3)-1+

+x° sglrm(x,,3) - 1| + 2xysglrm(x,,3) - 2:

M= {x",x+2y}u{ x* y"lk,me N} pwqinpjwl hwiwp hw-
dwwhwnwGh t, ophGuwl, hbnbjw; $nibyghws'

F(%o%,y) = % sg(x) + (x+2y)’ sglxy — 1 + x"=*?)

LE ]

58(xp ~1):

fuGnhpGtp

L2dwé pwqinipynuGibph hwdwp Ywnenighy hwiwuwhwnwGh $niby-
ghw L wwwgnigby Gpw wwpqugne)l JupqpGpwgnip)nilp:

1. M= {Zx x’ x+x’}

2 {x x*+yix —1}
3. M={x+y,x y,x* ,rm(x, y)}
4 M={x+y,x=6zx" 52,2y}
5. M= { Xy, X+ y,rm(x, y),[y]}
6. M= { P+ y,.2x,x }
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el
{

M=
8. M=1x)" x+1y+2}
9. M={x’, X +y ,x—y}
M

S

_ { :
1", M={ x’,x;3y,x+7’,[%}}

y—
12. M={ 2’,’:2 ,y,x+5y,y+7x}
13. M = 7y,x‘,x”‘,x43y,x+6y}

x '—(:i X+ x’,[l],.\w 10,x2}
Y| 5

x+3y,x=6y,x", 5x2y}

16.M={x;y,x.y,[a],x+y}
T+y
rest(x, y)[ ]fk=0,1,2}
|3
18.M={x>y,z=c/c=12}
19.M={1 x,[“f]xm 73}
x-.-
20. M ={5=1/1=123}U{x+y}
21. M ={r=3/r=135}0{2x}
22. M ={xl,k+y/l =12k =34}

23. M = { xr.b+cylr=23b= 0,1;c=8,9}
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24. M ={x+y,k-x-y,f(xéy)/k =0,1,2;Z=3,4}
25.M ={x=y,x+k-y,y" 1k=0121=56,7)
26. M = {xz,y’,a(x+y),x”!a >3}

21. M ={x’,x-y}u{ax2 +ylae N}
2B.M={a:(2 /akB}u{ ¥, %y}

20.M ={x+by/be N}u{xy,x’|

30.M ={x=3yz,y* | ke N}

3. M ={3x,x+1}U{x-2y/ye N}

32.M = {x+y,x-y}u{x+k—z/ke N}
33.M={7y,x+6z,y"’,k-x-y/kEN}

34.M={c-x-y’°€N}”{ "”’[ﬁ-ﬂ}

38.M={x+2y/ye N}u{x’,5'}
3. M={c-2"/ce Nju{x=2",x+7}
3. M= {x v,y ., x+k- y!keN}
{x+3y,x+4y,rm(§:t V) ke N}
3.M= {rm(x V). k- szeN}
40.M={x=yx+3z,k x- -z/ke N}
41. M ={x3x}u {x 3"‘/ceN}
2.M= {x+(3y)‘fceN} {x+lx}
{x 7x+2‘°} {2‘ x!ceN}
{x 2x} {x+3y/yeN}
45 M={x+yx-yju u{x+ky/keN}
{x rm(x,y)} {f/:' =13,5... }
47. M ={ by, l(x + y) k=3,4;l € N}
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l lrm(fy,x)fk!eN}

M=
49. M—{x”x+y J} {x"+y‘*’/a,bEN}

5. M =
52 M =
53. M =

55.M =
={x.'-k-y,l'y'2.-q=0,l,2;ke N}

56. M

5T. M =

58. M =
59. M =
60. M =

61. M =

62. M =

63. M =

65. M =
66. M =

67.M =
68. M =

69. M =
={a-x+b-y,l-z/a,b]l e N}

70. M

M={a-x+byla= 135, 3b=02,4,.}
{x'1i=024,.Ju{y"/j23}
{a- x/a>3}u{bylb>4}
{c,-x+¢,-ylc,, ¢, € N}
M={xp,cy+z,x+Iz/cle N}

{Ix/le N}uly =~ n/ne N}

{x,k-y,f(z+y)/k,IeN}

{k-x -y l(z+v)/ ke N,i =123}
y=111=158}U{x+2k/k=0,2,4,.}
a+bx/a,be N}
ax+y* /ake N}

{
{
{
{a x"/a,be N, a>[ﬂ}

{x‘heNrm(:j') 0}

Me={x’ Irm(i,2) =0ju{y" 1 j e N}
{x'f:eNrm(:Z) 0} {y’f}>2}

{x faEN}U x ilrm(i4) = OIEN}

{ )"f:;eNrm(:.?) 0,rm(j,2) = 0}
{x-+-y, } {x,y s’r,JeNJzZ}

{x-3' 1rm(i.3) = 2}0{ @™ )rm(a,2) =0l a > 7}
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7M. M= {a x+b- y/a,beN} {c'r’ceN}
72. M ={kc+ y,Ixz, p(y=z)/k,1,p € N}
B.M-= {x+y,x ky,l-x- y(m x)’r’klmeN}
M ={ax+by+cz/ab,ce N}
75. M = {x+k by,z" /IkmeN}
M={a-x+b-ylabeN}u {x*+yf/i,_;'eN}
M={x,y}lu {x,yf/:=0,2,4.‘..;y=1,3,5,...}u
u{a-x+b-yla,beN}

5. 6ULU2ELP bd UhUUGULU2ELR
rUQUNHE3NILLEP

Mhgnip M C N: M pwqdnipjwl pGnipwaphs niGlghwl uwh-
Guwlyned b hbnbyw) bnwGwyny.
Ltph xe M

X)= ;
(%) {O,bph xeM
UhuwpGnipwagnhs Pnillyghwl’ htinlywy Ykpuw.
- (x)— Ltph xeM
X =11 b e M
M pwqinpjnilp Ynsunud t swlwstip, tpb Gpw pGnipwgnhs
Pniblyghwl Ywngplpwg t:
M puqinenilp bngdmd t Ghuwowbwstyp, tpk wnbnh mbh
hwnbyw| wwydwGGEphg nplt dkyp’

‘. ¥ (x) Gwulwlh Ywpgplpwg dnillyghw t;

2. Qnynupynil nilh f (x) Jwulwyh YwpgpGpwg InLblyghw, wjbugh-
uht, np M = {x/! (x)};

3. QnymepyniG mubh 1 (a,x) wwpquagniyl Ywpoplpwg pnLlyghuw,
wybwhuht, np M = {a/3 x f(a,x)=0};
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4. QnmnipyniG  nubh F(a,x, ,...,x”) wwpquagnyyG  Ywpgplpwg
$nllyghw, wiGwhuhG, np M = {a/3 x,,...x, Fla,x, winsTg) = 0};

5. GnynipyntG niGh f(x) Gwubwyh YwpgpGpwg pnilyghw, wylyh-
uhG.np M ={y/3 x f(x)=y};

6. bpti M —p nuwwpl st, www grynipmG nuGh f(x) wwpqu-
qnuG YwpgpGpwg Pnillghw, wybwhuht, np M ={y/3 x f(x)=y};

7. bpb M —p wOdbny t, www qnynupyntli nGh g(x) pGnhwGnep
Lwpgplpwg $nillyghw, wilGwhuhl, np M = {y/E] x g(x)=y} L bpb
X, #X,, wyw g(":l)=|E g(xz):

Nhgnip M < N": M pwqdnipnilp Yngdnid t Swlwsbih (Yhuw-
Gwlwsgbih), Gpb dwlwskh (Uhuwswhwskih) t

M'= {C”(x,,...,x,, )/(Jr1 yerns Xy ) € M} pwqinipntlp:

Owlwsbh L Yhuwdwluslyh pwqdnipmbbbph hhdbwlpwl hunnln-

pymGlbpp

1. Gwlwsbih pwqdnupjwb (pwgmdp Swiwskih t:

2. bpynt Swlwgbh (Yhuwdwlwskh) pwqdneyniGObph Ghwiyn-
pnudl ne hwinnuip Swiwsbih (WhuwSwGuwskh) t:

3. UpuwSwlwsbh pwqinpjwl pugnuip YhuwSwiwsth b wib L
Shw)l wyl nbwpnud, bpp wyb (hbnbwpwp Gwb Gpw |pwgnidp) Swlw-
sbLh b (Mnuwnp pbnpbd):

huGnhpGbp

8nug nw| hbnlyw| pwqdnipntGlGEph Swlw st hnepnibp.
1. M=9g

2 M=N

3. M={39}

4 M= {al‘az,...,a,,}

5. M ={2k/k e N}

6. M={2k+1/ke N}
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M ={n/ n-pwuwnq phy t}

M ={n/ n-p Yuwnwpywg phy t}

9. M={13}u {2k/k e N}

10. M = 2,4} Rk+1/keN}

1. M = {L,6}U {w/ n-pwwnqphyt}
12. M ={n/ n-pwwnaphu t} \ {2,5}
13. M =1{2,6,10,14,..}

14. M ={3,7,17}

15. M ={3,69,..}

16. M ={L1L,111,...}

17. M ={1,31,331,..

18. M= {x/rm(x,S)#O'L rm(x,2)¢0}
19. M = {x/rm(x,2)=0L rm(x,6)%0}
20. M ={x/x>Tu3k x=2k}

21. M = {s/3k x=2'}
22. M ={x/3k x=3".5"}

2. M ={x/3k31 x=3".5'}

24. M = {x/3k x =k

25. M = {x/3K3l x=k* +1?}
2S.M={.r/3y 3z y*+7? =x’}
27. M ={x/x25 L 3y, y=3x+1}
28. M ={C(xy)/3k>0 x=y+k}
29. M ={(xy)/x =2y}

30. M ={(x,y)/x = y*}

31. M ={(x,y)/Ivx = 2"}

7.
8.
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2. M= {(x,y /Bvx > 2"}

33. M = {(x,y)/3vx 25.3"}

34. M ={{x,y)/x = 6.3“}

35. M ={(x,y)/rm(x,2)=0 L rm(y,3)=0}
36. M ={{x,y)/rm(x,2)=0L y-p wwnqt}
37. M ={(xy)/x+3 >2}

38. M={(x,y)/3vx>3" hy=3-k}

39.M= {(x.y)/er(x,2)=0 L3z y=51}

40. M = {(x,y)/3k(x + y) =3}

41. M ={(x,y)/3z (x<z <yl z-pwunqphyt)}
42.M = {(x,y,t)/t:» x-3"}

43. M ={(xy,z)/x = y =3z}
M.M:{C"(x,y,z)/x=3y+5’}

45, M:{C’(x,y,z)/x=y+2"}

8nuyg ww| pwqinpjwl YhuwSwlwskipnppuwb uwhdwlnudGhph
hwiwnpdbpnipniGp.

46. Uwhdwlnud 1 < UwhdwGned 2;

47 UwhdwGnid 1 « UwhdwGned 3:

48. Uwhowlnud 1 « UwhdwGned 4:

49. Uwhdw@nud 1 « UwhdwGnud 5:

50.UwhdwGnid 1 <> UwhdwGnud 6, bpb pwqdnipyniGp nuinwpl st:

51.UwhdwGnud 1 <> UwhdwGnid 7, bpk pwqdnueyniGp wiybpg t:

52. UwhiwGmd 2 < UwhdwGnud 3

53. UwhdwGnud 2 < UwhdwGnud 4

54 UwhdwGnud 2 « Uwhdwbnud 5

55.Uwhdwlnud 2 < UwhdwGnud 6, tiph pwqdnupyniGp nwunwply st:

56.Uwhdwlnud 2 <> UwhdwGnud 7, bpb pwqdnupynilp widtng t:

57.Uwhdwlned 3 < Uwhdwlnd 4

58. UwhdwGnid 3 « Uwhdwlnud 5
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59. Uwhdw(nud 3 «» UwhdwGnud 6, pb pwqinupyntlp nuwnwpl st

60. UwhdwGnid 3 «» Uwhdwinud 7, bpb pwqdnupynilp whdbpe t:

61.Uwhdwbnul 4 < UwhdwGnud 5

62.Uwhdwlnud 4 <> Uwhdw(ned 6, kpb pwqdnugynilp nuwwnwny st:

63.UwhdwGnLd 4 < UwhdwGnud 7, Gpb pwadnupynilp widbipg t:

64.Uwhdwnud 5 «» UwhdwGnud 6, Gpt pwqdnipyniGp nuinwpl st:

65. UwhdwGnud 5 «» Uwhdwbnud 7, Gpb puqdnupynilp wGdbpy t:

66. Uwhdwinid 6 «» Uwhdwlnud 7, pb pwqinugynilp nuwnwpl gk L
whybpe L:

Uwuwgniglp hbwnlyw| pwqinpeniGGbph  YhuwSwbwskhnipyniGp
hwiwdw)l 1 - 7 uwhdwGnuiGph.

67. M ={1,10} (1-6)

68. M ={3,7,17} (1-6)

69. M = {w/ n-pwuinq phy t}

70. M = {n/ n - pywnnumju phy t}

7. M ={1,3}U 2k/k e N}

72. M = 2,4}L Qk+1/keN)

73. M ={l,6}U {/ n-puunq phy t}
74. M ={2,6,10,14,...}

75. M ={5,10,15,20,..}

76. M ={l11111,.}

77. M ={13,133,1333,..}

78. M ={x/rm(x.4)=0}

79. M ={x/3k x=3"]

80. M = {x/x — hpwdwGwpwpibph pwlwlp hwywuwp t3}
81. M= {x/EIy wwnq phu, np x =y +2 }
82. M = {x/3k x = 2*}

83. M ={x/3zx=3 +1}

84. M ={x/x>7 L3k k=2x}
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85.M = {x/3k x=3".5¢)

3
86.M={x/3y, y +ysgx? S[:%—H

87. M = {(x, y)/x = 2y}

88.M={C(x,y)f.t=2"}

89. M = {(x,y)/x >2”}

90.M={(x,y)/x$yz}

9. M= {(x,y)/x<y’}

2. M ={(x,y)/x>5-3"}
M= {(x,y)/x=5-3"}

9. M = {(x,y)/y =3" .7}

95. M ={x, y)/rmlx, y)=1)

96. M={(x,y)/x43’ >2}

97.M = {(x,y)/ily, x=y1}

98. M = {(x,y)/f]k x=7" -y}

QQ.Mz{(x,y)/Hy, x>3’}

100. M = {(x,y)/3 2, x-y=1z}

101. M ={(x,y)/x-pqnyqtL y - pwuwpqt}

102. M= {( )/ y-panygth Ik x= 3*-y}
103. M={(x,y)/x>3" L3k y=3k}

104. M ={(x, y)/rm(x,3) = 0L rm(y, x) = 0}

105. M ={(xy)/x - pwuwna t b y - p yunnwpyw}
106. M ={(xy)/x=3k+1, y-pwwpqt}

107. M ={(xy)/3z,x<z<y L z-pYwnwpuy t}
108. M = {(xy)/EIz x*+yt=z }
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109.
110.

111.
112.
113.
114.
115.
116.
117.
118.
119.
120.
121.
122.
123.
124.

M ={xy)/x-p L y-p ihnhuwnwpdwpwn wunq bG}
M ={(xy)/x-h L y-hwikGwits pGrhwbnn
pwdwlwpwpp  YuGwn t}
M= {(x*}’ /x*ﬂllwmwmwlthil ry=y }
M ={xy)/x <y’ y<x}
={(xy)/3k x-y =3k+2}
={(x,y 3k, x=k° hyzx}
={xy)3z w1=2}
{(x.)/rm(min(x,y).3)=0 L rm(max(x,y)4)=0)}
{(x yt)t>x 3”}
{(xy,2)/223x- (y=1)
{x,y,2)/x = y =32}
{x.y.2)/x+y =2}
x,,2))x+y=y=z}
x,¥,z)z=4x=3y+1}
,y,z)/x y+2° }
(x, y)/x % y* U {(x,3,2)/z < x+ 3}

no
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6. UUULUUP LUMGLLBUS HNFLUShULENP Bd UhUUGULU2GLP

RUQUNHE3NFLLENP IUUUNULULNFY

3wywnGh E, np VnZlHF(xo,xl,...,x”) twulwyh Yuwpqplpwg

$niGyghw, npp hwiwyhnwbh t F* Swubwyh Ywpgplpwg PniGlghw-
Gbph pwqinpjwl hwiwp b, pun tnpywh, hwdwpwlwnu £ wn pwg-
dnipynilp: Wnwhuh hwiwwhwnwbh $nbyghw Yupbigh t wenigbp twn-
pon tnwlwybbpny [1 - 4]: OphOwy, YhGhh Ynnohg Ywenigwd hw-

dwuhnwh $niGlghwh plnncbywé t Gpwlwlby K™ (x,, X, 0.0 X, )-ny;
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Vwubwdnpuwwtu, K? (xo,xi) hwiwwhunwGh  $niblyghwih dhengny
hwiwpwlwynid t g' pwqunipynilp:
COnnGYwé b0 Gwl hbnlyw GawGwynuiGbpp.
VneN hLulil.upI(z(n,x)"—"j;(x)zsen:

lNuyup pbinpbid

g' pwqunipjwl guwilywgwé ny nuwunwply ubthwywd Gopwpwqint-
pjwlp ywuinlwhnn pnubyghwbbph pnpnp YhGywh hwiwpGbph pwqdne-
pynLlp Swluwgkbih st:

Ipdbdtiny pwqdnpywl  YhuwSwlwsb hnpjwl 5-pn uwhdwGiwh
Upw, Mnuwnh Ynndhg wnpyby b Ghuwdwbwskih pwqinuentGGliph htiunlywy
hwdwpwlyuwnudp

n, ={y/3xK*(n,x)= y}
(n hwdwp nGbgnn YhuwSwlwsbh pwqdnupyntGa t):

tuGnhplbp
Uwwgnighby, np’

1. Elf(x) w.ly. dnilyghw, wylwhuhG, np Vx7z = {x}:

. dn,np x, = {n}:

. 3n,np z,= N\{n}:
. Hg(x,y) Wuwpquagnylh Ywnpqplpwg dnibyghw, wybuyhupt, np
7 oxyy= {C(mym)/nex umex }:
Jbnwqnunb] hbnlyw| pwqdnipyniGibpp Swlwsbih® 60, pb™ ng,
YpuwSwlwsbih® bG, pb° ng:
6. M={n =0}
7. M={n | z,= N}
8 M={nla en,}, npinbin a - G npnzwlh pGwlwh phy t:

2
3. 3n,np 7, = {n*}:
4
5
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10. M = {P‘l/?!,, = {3’5}}
1. M ={n/z, = 345}
={n/{258}c 7, )

16. M = {n/ ' £,(15)}

17.M = {n/ 1 £,(10) }
18.M={n/1£,(5) ¢ 1£,(7)}
19. M = {n/£,(5)=7}

20. M = {n/3xf, (x) =13}

21. M={n/£,0)+ 1,00 =£,a 1)}
22. M ={C(n,m)/z, = z,}
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